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unsigned char
short
unsigned short
int
unsigned int
long

unsigned long

long long

unsigned long long

4(32hL R 4E). 8(641L R 4i)
4 (8)
8

-128~127

0~255

-32768-32767

0~65535
-2147483648 ~ 2147483647
0~ 4294967295

-9223372036854775808 ~
9223372036854775807

0-18446744073709551615
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/usr/lnclude/llmlts h3 {4, BEIESESCERNEN
# define SCHAR MIN (-128)
define SCHAR MAX 127
define UCHAR MAX 255

define INT_MIN (-INT MAX - 1)

define INT MAX 2147483647

define UINT MAX 4294967295U

/* Minimum and maximum values a ‘signed long int' can hold. */

H H H HF K

# if __ WORDSIZE == 64

# define LONG_MAX 9223372036854775807L
# else

# define LONG_MAX 21474836471

# endif

# define LONG MIN (-LONG_MAX - 1L)
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#include <stdio.h>

#include <limits.h>

int main(int argc, const char *argv([])

{

printf("char:%d ~ %d\n", SCHAR_MIN, SCHAR_MAX);

printf("short:%d ~ %d\n", SHRT_MIN, SHRT _MAX); $ gcc limit_test.c -Wall

printf("int:%d ~ %d\n", INT_MIN, INT_MAX); $ /a.out

printf("long:%Ild ~ %ld\n", LONG MIN, LONG MAX); char:-128 ~ 127
short:-32768 ~ 32767

return O- int:-2147483648 ~ 2147483647
} long:-9223372036854775808 ~ 9223372036854775807
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sizeof 1IZzEHF

- sizeof ROESPREXEF, BRFERIZER. seRNENSERE M SHEZE
HYF 2L,
( ) ( )
Int a;
sizeof(a) //ViEiX
sizeofa  //V

sizeof(int) //ViEiX

sizeof int //
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#include <stdio.h>

Int main()

{ $ gcc datatype2.c -Wall
$ ./a.out

sizeof(char)=1
sizeof(short)=2
sizeof(int)=4
printf("sizeof(long)=%Ilu\n", sizeof(long)); sizeof(long)=8
printf("sizeof(long long)=%lu\n", sizeof(long  sizeof(long long)=8

long)) ¥ uname -m
return O; x86 64
}

printf("sizeof(char)=%lu\n", sizeof(char));
printf("sizeof(short)=%lu\n", sizeof(short));
printf("sizeof(int)=%lu\n", sizeof(int));
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